RDYDIZLE (K

L)

pARAN

c RDDYDETEZLEL & Do
BRAIRDBE1ZEHNHTEZSEL £ Do

3

H134

EAN EENN O ¢

NN NN BN N[O RO OO|W

_16

2

(11)

) 5

BER

©5 5 =5 24
05+ =5 55
B2+ 2 =" 4

@%+%:$é,2120
RIS




ROMDZLE (MnEL) (12) B s

BER

c RDDYDETEZLEL & Do
BRAFRDBEEEHTNTETE L LD,

I T RDS
St E = e DG =g 4
Ot =5 35 0P+ = 77
P3+3 =5, 55 Bt T6=10, 770
05t E=5,2 ®gtgE=g 57




ROMDZLE (WDEL) (13) B s

BER

c RDDYDETEZLEL & Do
BRAFRDBEEEHTNTETE L LD,

. 2+ 2 :161,12 @_2+3_§:461 ,62
O+ ;1 :$,2é O+ 5 =g ,43
ol+L =223 e=2+<8=27 4
Ot = s 25 Byt =s 6




ROMDZLE (WnaL) (14) B s

BER

c RDDYDETEZLEL & Do
BRAIRDBE1ZEHNHTEZSEL £ Do

9 _ 13 ]

Do g 2,07 @_;+7:7 ,4;
eTtF= 27 Ogt+E=g 2%
OFta=g.2 OFrg=g 4
OF+g =% 45 g +P= oF
03411 23 e griians]




ROWMDIZLE (K073

c RDDYDETEZLEL & Do

L)

(15)

(5

BER

BRAFRDBEEEHTNTETE L LD,

0, 5 _15

®1

st e =5
phedetiod
OGtg =g 2
92+-2=2" ¢
S,

@%Jr?: 2,57
o3yt
S
B+ S5=70 5
B3+ 3 =527




RDYDIZLE (K

c RDDYDETEZLEL & Do

(16) ¥ s

BER

BRAFRDBEEEHTNTETE L LD,

4, 6 _ 20

QLA

®
%
_|_

©
od
_|_
G21 NS¢ ENNN

N
W

160
® —I—3
3
® —I—6

—_—
—_—

_I_

S
N

AW OO OO0 WINN O

@
+

slo N[T ol v

IO

S+ =y 3
St E =5
Tt e =% 5%
20, 3 _23 3




ROMDZLE (WnEL) (17) o

BER

c RDDYDETEZLEL & Do
BRAIRDBE1ZEHNHTEZSEL £ Do

N

-
—_—

N

NN O OO0 OO

®131+ 2 :137,5§ @_g+3_;:389
@170Jr g =$,Zé @3_;+%:493
o+ 2=12 32 @ L4+10-23
@275+2:3_74,4% 1_91+%1:292
Dol sl




ROWMDIZLE (K073

c RDDYDETEZLEL & Do

L)

(18)

(5

BER

BRAFRDBEEEHTNTETE L LD,

11, 7 _ 18

/4

R A
p+Ll=1 7
SRR
O+ =124

Py
o5 +5 =5 %
B+ =5 75
® 75+ T8=70.275




ROMDIZLE (D73 L)

c RDDYDETEZLEL & Do

(19) W s

BER

BRAFRDBEEEHTNTETE L LD,

510, 8 _18

676 6.
oll+ 2 =12 o
ST
DT+ =2 3
oGt g =5 2%

05+ o= 3
B 5+ 5 =57
®15+ 76 =70, 70




ROWMDIZLE (K073

c RDDYDETEZLEL & Do

L)

(20)

(5

BER

BRAFRDBEEEHTNTETE L LD,

6 _ 14

o5t =5 2
DS+ 2=
ST T
oS+ =T 605
92+L =10

92 +22=22 s
0§+ =7 4
O+ =20 5
® 76+ 76=10.276




